
Successive discount

1

Concept Lecture – 4



Find the selling price of an article if a
shopkeeper allows two successive discounts of
𝟐𝟎% each on the marked price of Rs.𝟖𝟎𝟎.
यदि एक िकुानिार 𝟖𝟎𝟎 रु के अंककत मलू्य वाली
ककसी वस्तु पर 𝟐𝟎% के िो क्रममक छूट िेता है,
तो वस्तु का ववक्रय मलू्य का पता लगाएं।
a) Rs.𝟓𝟏𝟐 b) Rs.𝟒𝟖𝟎
c) Rs.𝟔𝟒𝟎 c) Rs.𝟕𝟐𝟐
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A shopkeeper offers two discounts of 𝟏𝟎%
along with a discount of 𝟐𝟎% on a book
listed at Rs.𝟏𝟎𝟎𝟎. At what price a customer
would get it?
𝟏𝟎𝟎𝟎 रूपए अंककत मलू्य वाली पसु्तक पर
एक िकुानिार िो 𝟏𝟎% के बत्तों के अततररक्त
एक 𝟐𝟎% का बट्टा भी िेता है| तो वह
पसु्तक एक ग्राहक को ककतने में पड़गेी?
a) Rs. 𝟖𝟖𝟐 b) Rs.𝟑𝟓𝟐
c) Rs.𝟕𝟒𝟐 c) Rs.𝟔𝟒𝟖
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After three discounts of respectively 𝟏𝟎%,
𝟐𝟎% and 𝟑𝟎% a person bought a fan in
Rs.𝟐𝟓𝟐. Find the marked price of the fan.
एक आिमी ने क्रमश: 𝟏𝟎%, 𝟐𝟎% और 𝟑𝟎% के
तीन बट्टों के बाि 𝟐𝟓𝟐 रूपए में एक पखंा
ख़रीिा| पंखे का अंककत मलू्य ज्ञात कीजिए|
a) Rs.𝟒𝟎𝟎 b) Rs.𝟓𝟎𝟎
c) Rs.𝟓𝟓𝟎 c) Rs.𝟔𝟎𝟎
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Successive discounts of 𝟏𝟎% and 𝟐𝟎% are
equivalent to a single discount of:
𝟏𝟎% और 𝟐𝟎% की क्रममक छूट, ककतने %
एकल छूट के बराबर है:
a) 𝟏𝟓% b) 𝟐𝟖%
c) 𝟑𝟎% d) 𝟑𝟐%
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The difference between a discount of 𝟑𝟓%
and two successive discounts of 𝟐𝟎% and
𝟐𝟎% on a certain bill was Rs.𝟐𝟐 . The
amount of the bill is:
एक तनजचित बबल पर 𝟑𝟓% की छूट और
𝟐𝟎% − 𝟐𝟎% के िो क्रममक छूट के बीि का
अंतर रु 𝟐𝟐 था। बबल की रामश क्या है
a) Rs.𝟐𝟎𝟎𝟎 b) Rs.𝟏𝟏𝟎𝟎
c) Rs.𝟐𝟐𝟎𝟎 d)Data inadequate
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A single discount equivalent to successive
discounts of 𝟑𝟎%, 𝟐𝟎% and 𝟏𝟎% is:
𝟑𝟎%, 𝟐𝟎% और 𝟏𝟎% के क्रममक छूट के
बराबर एकल छूट है:
a) 𝟔𝟎% b) 𝟓𝟎. 𝟒%
c) 𝟒𝟗. 𝟒% d) 𝟒𝟗. 𝟔%
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The successive discounts 𝟏𝟖%, 𝟏𝟎% and 𝟏𝟓% are equivalent to a single
discount of:
𝟏𝟖%, 𝟏𝟎%और 𝟏𝟓% की क्रमागत छूट,----------- की एकल छूट के समतुल्य
हैं|
a) 𝟑𝟗. 𝟐𝟓% b) 𝟑𝟕. 𝟐𝟕% c) 𝟒𝟓. 𝟏𝟔% d) 𝟒𝟏. 𝟑𝟐%
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What is a single discount (to the nearest whole number) equivalent to the
successive discounts of 𝟏𝟎%, 𝟏𝟕% and 𝟐𝟓%?
𝟏𝟎%, 𝟏𝟕%और 𝟐𝟓% के क्रममक छूट के समतुल्य एकल छूट (तनकटतम परू्ण
संख्या तक) क्या होगा?
a) 𝟓𝟐% b) 𝟒𝟒% c) 𝟒𝟓% d) 𝟒𝟑%

SSC CHSL 2020
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A single discount equivalent to three
successive discounts of 𝟖%, 𝟏𝟓% and 𝟏𝟐% is:
𝟖% 𝟏𝟓% और 12% की तीन क्रमंगत छुट के
समतुल्य एकल छुट ज्ञात करें|
a) 𝟏𝟕. 𝟓% b) 𝟔𝟖. 𝟖𝟏𝟔%
c) 𝟑𝟓% d) 𝟑𝟏. 𝟏𝟖𝟒%
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A single discount equivalent to three
successive discounts of 𝟔%, 𝟏𝟓% and 𝟏𝟒% is:
6%, 15% और 14% की तीन क्रमागंत छुट
के समतुल्य एकल छुट ज्ञात करें|
a) 𝟏𝟕. 𝟓% b) 𝟑𝟏. 𝟐𝟖𝟔%
c) 𝟔𝟖. 𝟕𝟏𝟒% d) 𝟑𝟒. 𝟑𝟓𝟕%
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A company offers three types of successive
discounts.
𝟏st: 𝟐𝟓% and 𝟏𝟓% ;
𝟐𝒏𝒅: 𝟑𝟎% and 𝟏𝟎%;
𝟑rd: 𝟑𝟓% and 𝟓%.
Which offer is better for a customer?
एक कंपनी तीन प्रकार की क्रममक छूट िेती है।
पहली: 𝟐𝟓% और 𝟏𝟓%;
िसुरी: 𝟑𝟎% और 𝟏𝟎%;
तीसरी: 𝟑𝟓% और 𝟓%।
ग्राहक के मलए कौन सा ऑफ़र बेहतर है?
a) 𝟏st b) 𝟐nd
c) 𝟑rd d) All are equal
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A retailer offers the following discount scheme for
buyers on an article.
I. Two successive discounts of 𝟏𝟎%.
II. A discount of 𝟏𝟐% follows by a discount of 𝟖%.
III. Successive discounts of 𝟏𝟓% and 𝟓%.
IV. A discount of 𝟐𝟎%
The selling price will be minimum under the scheme
एक िकुानिार ककसी वस्तु पर ग्राहकों के मलए तनम्न
प्रकार की छूटें िेता है|
I. 𝟏𝟎% के िो क्रममक छूटें|
II 𝟖% छूट के बाि एक 𝟏𝟐% छूट|
III 𝟏𝟓%और 𝟓% की िो क्रममक छूटें|
IV 𝟐𝟎%की एकमात्र छूट|
ककस छूट के तहत सबसे कम ववक्री मलू्य होगा?
a) I b) II c) III d) IV

SSC CGL 2011 T-2
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The marked price of a watch was
Rs.𝟕𝟐𝟎. A man bought the same for
Rs. 𝟓𝟓𝟎. 𝟖𝟎 after getting two
successive discounts, the first being
𝟏𝟎%. The second discount rate is
एक घड़ी का अंककत मलू्य 𝟕𝟐𝟎 रु
था। एक व्यजक्त ने िो लगातार छूट
प्राप्त करने के बाि इसे 𝟓𝟓𝟎. 𝟖𝟎 रु
में खरीिा, पहला छूट 𝟏𝟎% की थी।
िसूरी छूट का िर ज्ञात करे:
a) 𝟏𝟖% b) 𝟏𝟒%
c) 𝟏𝟓% d) 𝟏𝟐%



A fan is listed at Rs.𝟏𝟓𝟎𝟎 and a discount of
𝟐𝟎% is offered on the list price. What
additional discount must be offered to the
customer to bring the net price to Rs.𝟏𝟏𝟎𝟒?
एक पखें को 𝟏𝟓𝟎𝟎 रुपये में अंककत ककया
िाता है और अंककत मलू्य पर 𝟐𝟎% की छूट
प्रिान की िाती है। ग्राहक को ककतनी
अततररक्त छूट प्रिान की िानी िादहए कक
उसे पंखा 𝟏𝟏𝟎𝟒 रूपये में ममल िाये?
a) 𝟖% b) 𝟏𝟎%
c) 𝟏𝟐% d) 𝟏𝟓%
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A pen is listed for Rs.𝟏𝟐. A discount of
𝟏𝟓% is given on it. 𝑨 second discount is
given brining the price down to Rs.𝟖. 𝟏𝟔. The
rate of second discount is
एक कलम पर 𝟏𝟐 रुपये अंककत ककये गये।
इस पर 𝟏𝟓% की छूट िी गई। एक िसूरी छूट
िेने पर इसकी कीमत 𝟖. 𝟏𝟔 रूपये तक कम हो
गई। िसूरी छूट का िर ज्ञात कीजिये?
a) 𝟏𝟓% b) 𝟏𝟖%
c) 𝟐𝟎% d) 𝟐𝟓%
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A shopkeeper offers two discounts of 𝟏𝟎% and

𝟐𝟎% on a bag listed at Rs.𝟖𝟎𝟎. But a sticky

bargainer availed one more discount and

bought the bag for Rs.𝟓𝟎𝟒 . Find the rate

percent of the third discount.

𝟖𝟎𝟎 रूपए अंककत मलू्य वाली बगै पर एक
िकुानिार क्रमशः 𝟏𝟎% और 𝟐𝟎% के िो बट्टे
िेता है| पर एक जिद्िी ग्राहक ने एक और
बट्टा लेकर 𝟓𝟎𝟒 रूपए में बगै खरीि मलया|
तीसरे बट्टे की प्रततशत बताइए|
a) 𝟏𝟐. 𝟓 b) 𝟏𝟎 c) 𝟏𝟓 d) 𝟏𝟒. 𝟐𝟖
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After offering a discount of 𝟏𝟎% and two more

discounts of equal rate, a shopkeeper sold a bat

marked at Rs.𝟏𝟎𝟎𝟎 in Rs.𝟓𝟕𝟔. Find the price if

only third discount would have been offered.

एक िकुानिार ने 𝟏𝟎𝟎𝟎 रूपए अंककत मलू्य के
बल्ले पर 𝟏𝟎% के बट्टे के बाि समान प्रततशत की
िर से िो बट्टे और दिए, और बल्ले को 𝟓𝟕𝟔 रूपए
में बेि दिया| मसर्ण तीसरे वाला बट्टा िेने के बाि
बल्ले की कीमत क्या होगी?
a) 𝟔𝟒𝟎 b) 𝟕𝟓𝟎 c) 𝟖𝟐𝟔 d) 𝟖𝟎𝟎
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The marked price of an article is ₹𝟏𝟓𝟎𝟎. If

two successive discounts, each of 𝒙%, on

the marked price is equal to a single

discount of ₹𝟓𝟖𝟕. 𝟒𝟎, then what will be the

selling price of the article if a single discount

of x% is given on the marked price?

एक वस्तु का अंककत मलू्य रू 𝟏𝟓𝟎𝟎 है और
𝒙% की िो क्रममक छूट, अंककत मलू्य रू
𝟓𝟖𝟕. 𝟒𝟎 की अकेली छूट के बराबर है| यदि
अंककत मलू्य पर मसर्ण 𝒙% की एक छूट िी
गयी तो उस वस्तु का क्रय मलू्य क्या होता?
a) ₹𝟏, 𝟎𝟐𝟓 b) ₹𝟏, 𝟏𝟓𝟓

c) ₹𝟏, 𝟏𝟕𝟎 d) ₹𝟏, 𝟐𝟎𝟎
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Three equal successive discounts % allowed

on an article affect as single discount of

𝟕𝟖. 𝟒%. Find each equal discount % ?

तीन समान क्रमागत छूट 𝟕𝟖. 𝟒% की एकल
छूट के बराबर है| प्रत्येक छूट क्या होगी?
a) 𝟑𝟖. 𝟑𝟑% b) 𝟑𝟕. 𝟓%

c) 𝟒𝟎% d) 𝟒𝟒. 𝟒𝟒%
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Traders 𝑨 and 𝑩 buy two goods for Rs.
𝟏𝟎𝟎𝟎 and Rs. 𝟐𝟎𝟎𝟎 respectively. Trader 𝑨
marks his goods up by 𝒙%, while trader 𝑩
marks his goods up by 𝟐𝒙% and offers a
discount of 𝒙%. If both make the same non-
zero profit, find 𝒙.
व्यापारी 𝑨 और 𝑩 िो सामानों को क्रमशः
𝟏𝟎𝟎𝟎 रु और 𝟐𝟎𝟎𝟎 रु में खरीिते हैं। टे्रडर
𝑨 अपने माल को 𝒙% तक चिजननत करता है,
िबकक व्यापारी 𝑩 अपने माल को 𝟐𝒙% तक
चिजननत करता है और 𝒙% की छूट प्रिान
करता है। यदि िोनों एक ही गैर-शनू्य लाभ
कमाते हैं, तो 𝒙 का मान ज्ञात करें।
a) 𝟐𝟓% b) 𝟏𝟐. 𝟓%
c) 𝟑𝟕. 𝟓% d) 𝟒𝟎%



A dealer gives as much discount (in %) as

much he marks up (in %) above the cost

price. What is the mark up percentage if the

loss (in %) is half of the mark up (in %)?

एक डीलर लागत मलू्य से जितना अचिक
(% में) माकण अप करता है, वह उतना ही
छूट (प्रततशत में) िेता है। यदि हातन प्रततशत
माकण अप प्रततशत का आिा है तो माकण अप
प्रततशत क्या है?
a) 𝟐𝟎% b) 𝟒𝟎%

c) Can’t be determine d) None of these
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𝟓𝟎 successive discounts of 𝟐%, 𝟒%, 𝟔%, 𝟖% and so

on will result in a single discount of:

क्रमश: 𝟐%, 𝟒%, 𝟔%, 𝟖%,……… की 𝟓𝟎 क्रमागत छूटों
के बराबर एकल छूट ज्ञात करे?
a) 𝟏𝟓𝟎% b) 𝟐𝟓𝟎% c) 𝟏𝟎𝟎% d) 𝟓𝟎%
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Marked price of a refrigerator is Rs. 𝟏𝟎𝟖𝟎. Two

successive discounts each 𝒙% are given on this

refrigerator. Due to further bargaining of

customer discount of Rs.𝟏𝟖𝟎𝟖 are also allowed.

Now shopkeeper charges 𝟏𝟐. 𝟓% G.S.T on the

discounted price and sold it for Rs. 𝟒𝟓𝟎𝟎. Find

value of 𝒙?

एक रेफ्रोिरेटर का अकंकत मूल्य रु 𝟏𝟎𝟖𝟎 है, इस
रेफ्रोिरेटर पर 𝒙% की िो क्रममक छूट िी गई है|
आगे ग्राहक की सौिेबािी के करर् Rs.𝟏𝟖𝟎𝟖 की
अततररक छूट िी िाती है| अब िकुानिर छूट के
बाि मूल्य पर 𝟏𝟐. 𝟓% GST िािण करता है और
इसे 𝟒𝟓𝟎𝟎 रूपये में बेिता है|
a) 𝟐𝟕. 𝟓% b) 𝟐𝟖. 𝟑𝟑%

c) 𝟐𝟓% d) 𝟐𝟔. 𝟔𝟔%
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